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Section A, .B and C are compulsory for all Regular and Private students. Please
follow the 'nStf*“Cti(’“S’ given in each section. Marks distribution for all students
are as shown in question paper. The blind candidates will be given 60 minutes

xtra time. .
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Regular 15x1=15/Private 15x1=15

1. 3G NTHeFEX ¥ UFweAd A9w F @1 96t & 7 Which is called external level in DBMS architecture?

(a) Physical level (b) Logical level

(c) View level (d) Conceptual level.

9 Z0d 1 & ? What is tuple ?

(a) A table in RDBMS

(b) A row or record in a table

{(¢) An attribute attached to a record (d) None of the above.
3. T ST ET Q@?{E % fod g€ 48 € 7 Which one is not correct for an attribute ?
(a) Shows the properties of entity _ (b} A field of a relation
(c) A row of a relation (d) A column of a relation.
4, A key % : Primary key is
(a) Not Null & Unique (b) Null and Unigque
(¢) Maximum No. of Attributes (d) Not Unique.

5. % a7 2 ¥ SRF W F1 FEATE St Al key H T8 FYR AR
Combination of two or more attributes used as Primary key : . _
(a) Composite key (b) Alternative key (c) Candidate key (d) Foreign key.

6. A T st e Fx 2y @@ 2 af2 y % : Reflexivity property says that x — y is true ify is:

(a) Subset of x " (b) Null set of x (c) Superset of y (d) Subset of y.
7. DFD & gof &% & : Full form of DFD is : - o

(a) Data Flow Document (b) Data File Diagram

(¢) Data Flow Diagram . : ~ (d) None of the above.
8. BCNF.......... 5 a% Fd FTT BCNF works after .....coo..uerrnees

(a) 1 NF (b) 2 NF [ () 3NF (d) 4 NF

9. UH EE o 2 NF & & it 9g% #1¢ transitive dependencies & ¥, #1 F5d ¥ :

A table that is in 2 NF and contain no transitive dependencies is said to be in :

(a) 1 NF (b) 2 NF (c) 3 NF (d) 4 NF.
10. DCL 77 qof & # : Full form of DCLs : |

(a) Data Control Language (b) Data Console Language

(c) Data Console Level . (d) Dat§ Control Level.
11, ff=7 % & &= & DML EFHT‘U'S' 7% ¥ ? Which one.is not a DML Command ?

(a) Update ' (b) Drop " (c) Insert ~ (d) Delete.
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# : Full form of SQL (b) Sequential Query Languqg,
il (d) Serverside Query Lﬂl‘lguage.
Structu .
{a) ery Lﬂ_ng'[lﬁ_fe . ﬂ‘g’rﬂ% '
is applied to the result.

() Standard QU -
7 gwa, R ¥ - that
130 i T 5‘;],5 ' additions] filter () Having (d) Orde, by

I Clﬂu b r
(&) Select (b) GrouP  the following is not a property of
¢ & 7 Which ot the ' Tangga:

X N oical ﬂ'ﬁg ' d . cl]u |
4. R A A A & e {b}%nsiswncy (c) Isolation (d) Serlﬂhzahﬂih’“:
(a) Atomicity . Revoke are statements of th '
2oiw ¥ : Grant and Re ; e follgy;
T (e) TCL P DML ey

16. Grant &1 Revoke [0 p
(a) DDL Regul '
gular S5x4- .

g ¥ : @y Iudd Section B ; Short Answer
1. Data 3t Information ¥ 3L EEEIEC] |I o
lain difference between Data and Info
= srgar OR

Schema 3T Sub-schema I aRomfye #if |

Define Schema and Sub-schema.

2. ¥ TR ¥ o9 qasd | _
' Give the level of Data Abstraction.
gqa1 OR

T AT W F e dfed aRay |
Explain the first normal form with example.
DML a1 TCL 3t §wared | DAVVonline.com

Explain DML and TCL.
3rqqr OR

Weal (F9IC) §47 Strong (89137 T &7 #t wwamedr |
Explain Weak and Strong Entity Sets.

4. Tuple 747 Attribute SRETT Fied FATTE -|
Explain Tuple and Attribute with examples,

) gar OR
3T & ArfardsnT & sy wr g ¥ 7
What do you meant by Normalization of Data ?

5. Concurrency #riiz 7t qATAEY |

Explain Concurrency Management.
) aar OR

s_QL Eéa?r:: @I Transaction ¥ s qargd |
Give difference betweep SQL Statement and a Transaction
g g ; 9O i |
Iaig Section C . Long Answer Regular 5x10=50/Private gx]2

1. DBMS % %2 margh |
~ Explain the advantages of DBMS

DBMS%mqﬁaﬁﬂrﬁéﬁ-(ﬁrm | T OR
Explain the 3 Jeye] architecture of DBMS. DAVVonline.com

2. ¥R (Hierarchical) oy AT (Network) we 31
WS |

Explain the Hierarchica) and Network Mode]
odel.

DBMS # keys aar g3
_ THR 3 Ferge LY
Explain keys and their types in DBM: . 1
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3. 3NF @ Feee «Rer R @ gy | JS-381

Explain 3NF in detail with example. DAVVonline.com

' T OR

Explain 4NF in detail with example,

4, Aggregate function F 3% ¥R a1 Ferewwr 3 ey X
Explain Aggregate function with ijts types and examples

’ I OR
e T S AW F F&Te o awemey |

Describe Project and Join Operation with example.
5. Recovery THISTC &1 SEN SUTITET Fr R § wweme |
Explain the Recovery Procedure and its applicability in detail
sFar OR

Concurrency control I F7ET Y 3fua 2w & Twamsd |
Explain the Concurrency control problem with suitable example.
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